1. Where is the center of origin for peanuts? wF 'ﬂft ‘I’J
South America 0"""“'3 !"“"f"é

3. Africa (oltf

C. Asia —

D. South Carolina

E. China
2. What are the 3 botanical classifications of peanut? Virginta s wrlad f4 pas and
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A. Virginia, Runner, Spanish T
are bith Vrj A bt onit I~

irginia, Valencia, Spanish
C. Virginia, Valencia, Runner

3. Which of the following micronutrients is more problematic to peanut at low pH?

A. Sulfur

(BoZinc

C. Manganese
D. Boron

4. Which of the following tends to respond more to gypsum?

A. Bailey e - cealsll yeneliy o requirts
B. Sullivan e, S22 « b D s ;
C. Wynne <Lt *"“”e e |""“" “peh { J]P

('D.)Gregory

5. Which of the following explains why runners are generally less expensive that Virginia types to
grow?

A. Requires less than 5 plants per foot of row
B. Requires fewer pounds of seed to establish the optimum stand

C. Requires less gypsum
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6. On average, what increase in yield (pounds/acre) is often obtained with inoculant when applied in
fields that have been previously rotated with peanut?

A. 100 —~ Ky
. ok Tofbrmt i
('B.)200 Sax page 1S Q0 2918 Pl 700
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D. 400
7. What temperature base is used in calculating growing degree days for peanut?
A. 50 bqg_‘_ _,f 36, LHLL ‘f} Na ())C-‘v'e{itfﬁv‘—"f' OClvrie 4
(B. 56 e thie Jempefore
C. 65 beler
D. 68 - ﬁg)" it +hg CE'IM&’

8. If the maximum temperature for the day is 91 and the low temperature for the day is 71, how many
heat units have been accumulated for that day?

A. 15 47 _ e
B.. 20 2
—35 Ej—g\o -.:'L_S/

9. What is the early morning temperature range that coincides with slowing the plant down enough
so that additional peanut maturity is unlikely?

A. 40-45
(B. #6-50
C. 51-55
D. 56-60

10.What is the minimum number of days in a row that correspond to your answer for 9?
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11. How many hours ahead of a frost should a farmer stop digging to prevent freeze damage (assume
there is an accurate frost prediction)

A. 24
B. 48

D. 96



12.What nutrient is deficient?

A. Nitrogen
B. Potassium
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13.Which nutrient is deficient?

itrogen
B. Boron
C. Potassium
D. Copper




14.What is this nutrient toxicity?

A. Zinc

B. Potassium
C. Copper
D. Boron




15.What is this deficiency?

A. Potassium
Boron
Manganese

D. Nitrogen




16.How many quarts of a 9.0% boron solution are needed to supply boron at 0.5 pounds per acre?

A 11 o h\% 1,\_‘0“-&;
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D. None of the above

17.How many pounds of disodium octaborate (Solubor at 1&5% boron) are needed to supply boron
at 0.5 pounds per acre? @

A. 14
(828

Y. 435
D. None of the above



18.Which one of the following elements caused this toxicity?

A. Carbon
B. Boron
C. Manganese




19.What is the NCDA&CS maximum index for zinc relative to peanut?

A. 150

250
C. 450
D. 650

17. What is the optimum in-row plant population for Virginia market types?

A 3
B. 4

G2

18. If the realistic yield potential is 4,000 pounds per acre, the contract price is $405/ton, and the cost
of production is $900/acre, what is the net return ($/acre)?

A. -40
B. 61

.. 14

19. If the realistic yield potential is 4,000 pounds per acre, the contract price is $535/ton, and the cost
of production is $950/acre, what is the net return ($/acre)?

A.

B. 12
C. 304
D. 254



20.

What is this type of injury?
A. Leaf hopper
hrips
. Crown rot
D. Paraquat




20.Which insecticide is most Iikely causing this injury?

A. Admire Pro
B. _Acephate
orate
. Ag Logic




21.Which herbicide is most likely causing this injury?

A. Cobra

B. Storm
C. Roundup
Paraquat




22.How many days is this sample aways from being ready to dig?

A. 21 days
B. 14 days
C. 7 days




23.How many days is this sample aways from being ready to dig?

days
B. 14 days
C. 7 days
D. Now




24.How many days is this sample aways from being ready to dig?

A. 21 days
(B. 1Ddays
C. 7 days
D. Now




25. Will these weeds die?

A. Yes
B. No




26.What MOA class of herbicides likely was sprayed on these weeds?

A. ALS inhibitor
(_B._PPO inhibitor

C. HPPD inhibitor

D. EPSP inhibitor




27.What insect most likely caused this injury?

A. Lesser cornstalk borer
B. Cutworm

Cg}outhern corn rootworm
. None of these




28.This injury is caused by what type of pest?

A. Pathogen

B. Nematode
rthropod

D. Deer

E. Human

F. None of these




29.What arthropod is causing this injury?

A. Corn earworm
Spider mites
". Thrips
D. None of these




30.This symptomology is associated with which pest in peanut?

A._Leaf spot

B. Bpotted wilt virus
.~ Tobacco spit

D. Rosette virus




31.What is this disease?

te leaf spot
eb blotch

C. Early leaf spot -,

D. Pencil spot
E. None of these




32.What is this disease?

ate leaf spot

B. Web blotch
C. Early leaf spot
D. Pencil spot
E. None of these




33.What is this disease?

A. Late leaf spot
B. Web blotch
C. Early leaf spot
D. Pencil spot
E. None of these




34.What is this disease?

A. Late leaf spot
B. Web blotch
C. Early leaf spot

ncil spot
. None of these




35.Which of these stages is R3?




36.What is this disease?

A. Sclerotinia blight
B. CBR
tem rot
~ Crown rot
E. Rhizoctonia limb rot




37.What is this disease?

A. Sclerotinia blight
B. CBR
tem rot
. Crown rot
E. Rhizoctonia limb rot




38. What is this disease?

A. Sclerotinia blight

B. CBR

C. Stem rot

D. Crown rot

E. Rhizoctonia limb rot




